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[7—XR 1) EEFEERIEDHZE
270km/hZET + BEIFIRT "OZFH, Aid :
MmEBEBaEeT710t - ZEHEE637t = IKREEE 73t
12kg/fE x ®81,323 A = EEEE 15.9t 1 88.9t / 3l&
[—R 2] @EI16tlRE UIcas

210km/h&1T + EhE 16t (P-167a7&) :
THE 16t x 48/ x 16M = HEESE1,024t
mEEse]1,024t - ZEEES637t = 387t =t 387t/ &

[7—R 3] FEEMXR200%1ZERIBDIHE

210~270km/h&1T + FTESBRHER200%18 -
T—21DE =178t s+ 178t/ 5&




MZEIVT+%
BATHES !

. #9110kg
: 1,500kg

5
=]




[T—Ra] OZHSHEEIDZE
DZHSEICHERIBERREL M
14,250M/ A x 81,323\ = 1,885/5H 51,885/ / 3=

[7—Rb] BBEEREEYEDIEE
RR-FTAREDBBHFER T H :
13,240/ A\ x F&1,323A =1,752/5H =t 1,752/H / 3=

[T—XR c] #FHEFiREIRBENBESDIZE

FEFIREHAFREX(RENA)3 7 AklEllidx
(BRR~EN) + GRIR~KIR) + CKR~FKER) - - - 1,175,540
1,175,540 + 908 + 2(] = 6,531H
6,531/ A x E&1,323A = 864/HH 5t 8645 / 5




xZIABEEY kg H-UFHE ENIIMTEEE & Y =)
(1) 300 % (2) #hEE 16t | (3)200%FH Y

(a) DZE I 329 M D3 % 129 H

(b) BHHJFE 306 1 49 % 120 F*

(c) FREX 151 I- 24 % 59 F*
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